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SkFh [0) 1,000 1,000 1,000 1,000 0 —
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FHE™H [0) 1,800 0 1 800 1,800 0 —
BETH [0) 1,500 0 1 300 1,300 1,300 —
Bt O 6, 000 0 0 1,000 0 -
BEEH™H @) O 2,800 | 2,800 | 2,800 | 2800 | 2 800 —
izhitl [0) 2,550 | 2,550 | 2,550 | 2,550 | 2,550 —
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J\FHH [0) 2,000 | 2,000 [ 2000 | 2 000 0 —
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| AR+ (o] KelKe) 1,700 | 1,700 [ 1,700 | 1,700 [ 1,700 —
EfEATLEHE M EESES — — — — - —
il [0) 1,900 | 1,900 | 1,900 | 1,900 [ 1,900 —
WgHH ®) 1,765 0 512 1,503 1,102 -
KLEHR @) 2,100 [ 2,100 | 2,100 | 2,100 | 2 100 —
{07 BT 0] 900 900 900 900 900 —
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